Section 2.4(Solutions)

3. Since |yVx — 2| < 04 & 16 < /xr <24 & 256 <z <576 & —1.44 <
r —4 < 1.76, so for any positive number § < 1.44, we have |z — 4] < 0 =
256 <4—0<x<44+5<544 =256 <z <576=|/r—2 <04. Hence we
can choose any ¢ such that 0 < § < 1.44.

4. Since |12~ 1| <lel<?<i=asLcr<c B a2 1<cp-1<B 1,
so for any positive number5§‘/76—12111111{1—‘/75,‘/76—1}, we have |z — 1] < 0
:>\/7§—1<:E—1<\/7€—1:>|$2—1|<%. Hence we can choose any 0 such that
0<s<¥8 1,

19. Given any € > 0, let § = 5e. If 0 < |2 — 3| < 4, then | — 2| = l2=3] <§:e.

20. Given any € > 0, let 0 = 4e. If 0 < [ —6| < 4, then |(£+3)—3| = 2= < S =

21. Given any € > 0, let § = g(—:. If0 < |r—(=5)| <6, then |(4—32)—7| = 3lz+5|
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22. Given any € > 0, let 6 = €. If 0 < [z —3] < ¢, then ]%—7\ =|(z+4)—7| =
lz—3| <d=e

23. Given any € > 0,let § = €. If 0 < |z — a| < 0, then |z —a| <e.
24. Given any € > 0, let = 1. If 0 < |[x — a|] < 0, then |c —¢| =0 < e.
25. Given any € > 0, let 6 = \/e. If 0 < |z — 0] < 4, then |22 — 0| = |z]? < §? = e.

33. Given any € > 0, let 0 = min{2, £}. If 0 < [r—3| < 4, then [z +3| < [v—3[+6 <
0 + 6 < 8 by triangle inequality. Hence [2* — 9| = [z + 3||z — 3| <80 < 8 X § =

41. ﬁ > 10000 < |z + 3| < 0.1, hence the answer is 0.1.

42. Given any M > 0, let § = {*/_IM >0. If0 < |[z—(=3)| <6, thenﬁ >4 =M.



